_ MinicreperBo oCBITH 1 HAYKH YKpaiHH
OIECBKNU HALIOHAJIBHUU TTOJITEXHIYHMN YHIBEPCUTET

METO/INYHI BKA3IBKA
10 BUKOHAHHSA KOHTPOJIbHUX
3AB/IAHb Ne 2, 3
3 AHIJIIMCBKOI MOBU
VIS CTY/IeHTIB 1-T0 Kypcy
3204HOI (pOpMHU HABYAHHSH

Opneca
Hayka i TexHika
2007



_ MinicreperBo oCBITH 1 HAYKH YKpaiHH
OIECBKNU HALIOHAJIBHUU TTOJITEXHIYHMN YHIBEPCUTET

METOAUYHI BKA3IBKA
10 BUKOHAHHSA KOHTPOJIBHUX
3ABJIAHDb Ne 2,3
3 AHTJIIACBKOI MOBH
JJIS1 CTYIeHTIiB 1-T0 Kypcy
3204HOI (POPMU HABYAHHS

3aTBEpIHKEHO
Ha 3aciiaHH1 Kagenpu
1HO3EMHHX MOB
IIpotokosn Ne 3 Bin 27.10.07

Opneca
Hayxka 1 TexHika
2007

2



MertoauuHi BKa3iBKH 1 KOHTPOIBHI 3aBAaHHs Ne 2, 3 3 aHIIHCHKOl MOBH IS CTY/ICHTIB 1-T0
Kypcy 3aounoi ¢opmu HaBuanHs / Y1 O.B. Jlebenea, I'I1. Mikemosa, M.I'. Tomenko, JLIO.
Hamnenko — Oneca: “Hayka 1 Texnika”, 2007. — 37c.

Vrmamadi: O.B. JIebenesa, acucr.
I'.I1. Mikemosa
M.I". Tomenko, cTapiir BUKIaIaqi
JLYO. [aneHko, ka1, (1. HAYK, JOII.



IHEPEIMOBA

OCHOBHOIO METOI0 HaBUaHHs CTYJCHTIB AaHIJIHCHKIH MOBI B TEXHIYHOMY BY3i €
JOCSITHEHHS! HUMH MPAKTUYHOTO BOJIOAIHHS 111€}0 MOBOIO, 110 B YMOBAaX 3a0YHOI'0 HABYAHHS
o3Hauae (opMyBaHHS BMIHHS CaMOCTIHHO YMTATH 1HO3EMHI JiTepaTypHi JKepena 3a CBOIM
daxom 3 metor 3100yTTs iH(popmarii. Il mporpama mnepeadavae TOJIOBHUM YHHOM
CaMOCTIiiHy poOOTYy CTY/ICHTIB.

Meroauuni  BKa3iBKM  MICTATh TEKCTH 3 BOpaBamu. lleli Marepian mnoBUHEH
JIOTIOMOTTH HABUUTH MPAIIOBATH 3 TEKCTAMU CAMOCTIHHO 1 MOXE TaKOK BUKOPHUCTOBYBAaTUCH
HA 3aHATTSIX BUKJIAJJaueM.

JlekcuyHi Ta TpaMaTHYHI BOPAaBH JAIOTh HANOUIBII THUIOBI BUIAIKUA B)KUBAHHS
MOBHOTO Matepiany Tekcty. II[o6 3po3ymiTH HayKoBY JiTeparypy, Tpeba OBOJOMITH
BU3HAYECHUM 3aI1acOM CJIiB Ta BUCIIOBIB.

3a MOBHMH KypC HaBYaHHS CTYACHT IOBUHEH MaTH CIOBHHMKOBHMM 3amac y 500
3araJlbHOBJKMBAHHX CIIiB, SIKHI € OCHOBOIO JJIsl PO3IIMPEHHS MOTEHIIATBHOTO CJIOBHUKOBOTO
3anacy 10 1000-1500 nekCHyHUX OMHUIIb.

VY mporueci HaBYaHHA HEOOXITHO 3aCBOITM OCHOBHI IpaMaTH4HI SIBUILA Ta CTPYKTYPH,
XapakTepHi I HAYKOBUX TEKCTIB aHTJIIHCHKOI MOBOIO, K1 MOJaHi1 y BKa3iBKax. KiJbKiCTh
BIIPAB, SIKi BXOJISITh JI0 KOHTPOJIBLHUX 3aBAaHb, JOIIOMOXYTh JOCSITHYTH METH.

CTyAeHT mepumioro pokKy HaBYaHHS Ma€ BUKOHATH 3 KOHTpOJbHUX poOoTu. Koxny
NUCHMOBY poOOTY HEOOXIJTHO BHMKOHYBAaTH B OKpPEMOMY 30MIMTI. Y pa3i oJepKaHHA
HE3aJIOBUIbHOI pereH3ii Ha poOoTy, 0a)kaHa J0IaTKOBAa KOHCYJIbTAIlis 3 BUKIIAIaueM.

VY mporeci miArOTOBKH A0 3alliKy CTYJCHT MOBHHEH IIJArOTYBaTH 5 C. aHINIIKHCHKOTO
TekcTy caMmocTiiiHO (1 ¢. mopiBHIOE 1500 ApyKOBaHMX 3HAKIB).



KOHTPOJIBHE 3AB/IAHHS Ne 2

Jliss npaBUIIBHOTO BHKOHAHHS IIHOTO 3aBJaHHS HEOOXIJHO ONpaIlOBaTH PO3JILIH
KypCy aHIJIIACHKOT MOBH 32 PEKOMEHJIOBAHUMH MiAPYYHHUKAMH 1 METOAUYHUMHU BKa3iBKaMu
YH MOCIOHUKAMHU.

1. [TuranbHa, 3anepevna, ClloHyKajabHa (hopMu JieciioBa. Buay 3anepeueHHs.

2. YmoBHi nigpsaHi pedeHHs (Tumm aHTIIACHKUX MIAPAIHUX PEYCHb. YMOBH 1
0COOIMBOCTI TXHBOTO MEpeKIady Ha YKpaiHChbKy MOBY. bararo3nHauHicTh croiy4HukiB "if i
"whether". be3cnorydHKOBI YMOBHI PECUCHHS ).

3. JienpukMmeTHUK, Gopmu 1 (YHKIII Ai€ENPUKMETHHKA B PEYEHHI. JalexHHi 1
HE3JICKHHUN JTI€EMNPUKMETHUKOBI 3BOPOTH.

4. I'epynnaiii. 3Ha4eHHs 1 ctocoOu HOTro mepekyany.

5. I'epynpiit 3 npuiiMeHHUKaMU B (QYHKIIIT 0OCTaBHH.

Bapianr 1

I. TlepenuuriTh i mepeKIaaiTh peYeHHs, TO3HAYTE THIT PEUCHHSI.

1. If T had noticed this mistake earlier, I could have corrected it myself.

2. You should submit your test paper timely.

3. He asked if he could be provided with the necessary materials.

4. A worker never breaks his machinery provided he is careful enough.

5. If you observed all the rules of operating the machine, you would increase its
productivity.

6. I'd like to get acquainted with the rules of operating this equipment.

II. TIlepenumiiTh pe4YeHHS; MIAKPECHiTH B  HUX  JI€CIOBO-TIPUCYIOK (Y
CTBEP/DKYBAJIbHIN, THWTaIbHINA, 3alepedHii YW CIOHYKadbHIH (opmax); TNEepeKIaaiTh
YKpaiHCBKOIO a00 POCICHKOI0 MOBOIO.

1. Before beginning the experiment get acquainted with the safety rules.

2. One should not begin the experiment without getting acquainted with the safety
rules.

3. Have you got acquainted with the safety rules before beginning the experiment?

4. Anyone who has not got acquainted with safety rules cannot be permitted to take
part in this experiment.

5. What data does the system of reactor process monitoring supply the operator with?
(reactor process monitoring - TEXHOJIOTHYECKHUIA KOHTPOJIb SIEPHOTO PEAKTOpa).

6. Now let us get acquainted with the principles of biological shielding (3amura) of
the reactor.

[I. TlepeknaaiTe peyeHHs, 3BEPHYBILIHN yBary Ha (opMy BHpa)KeHHs 3arepeucHHs.

1. Neither of these materials can withstand such temperatures.

2. Neither this nor that material could be used in your experiment.

3. He did not say anything, as he had no objections.

4. No dictionary can help you to translate the text if you don't know grammar.

5. Nothing could be done to prevent unwanted extra-heating of the condensate
(kongeHcar).

6. None of them were present at the last conference.

IV. PosmoxainiTe HaBeeHI HUXKYE HEOCOOOB1 (hOPMH JIi€CTOBA HA TPU TPYIIN:

a) SK TaKi, 0 MalOTh TACUBHUI CTaH;

b) o03HayaroTh Jit0, AKa epeaye (mepeayBaHHs) Aii AIECIOBA - TPUCYIKA;

C) O3HAYaIOTh JiI0, OJHOYACHY 3 JI€I0 I€CIOBA - MPUCYIKA.

3BaxTe, M0 KokHa ¢opma rpymnu "a " 000B 'I3KOBO MOBHHHA TAKOXK BXOJUTH B OJIHY



13 TAaKHUX JIBOX TPYIL.

changing; having changed; being changed; having been changed; having performed;
performing; having been performed; being performed; being used; using; having been used;
having used; having been compared; comparing; being compared; having compared.

V. Ilepeknaaite peyeHHs, mo MicTATH "ing" . 3a3HauTe B Ty>KKaxX y KiHII peueHHs, YU
€ mana "ing" hoopma repyHaieM, YU JIENPUKMETHUKOM.

1. Now the computer is processing information on your problem.

2. The main function of a computer is processing information.

3. A processor is a unit processing input information.

4. In processing information you should use a computer.

5. Using an electronic computer you can considerably accelerate your investigation.

6. Using a computer will permit you to increase the speed of calculations.

VI. TlepexinaniTh peueHHs, 3BEpTAOYM yBary Ha OCOOJHMBOCTI MepeKiIamy
NPUHMEHHHUKIB Y CIIOJyY€HHI 3 TEPYHIIIEM.

1. In processing information you can use personal computers of the institute
computing center.

2. On completing the experiments one should thoroughly analyse the results obtained.

3. By repeating the experiment you could use some additional data.

4. It would be impossible to get these data without using special extremely sensitive
transducers (TaTIUKH).

5. In describing most physical processes one can use mathematical equations.

6. Without changing pressure you cannot change the boiling point of this mixture.

VIL Bubepite moTpibHy (opMmy II€ENPUKMETHHKA 3 HABEACHUX B JIyXKKax.
[epeknanitTe oaepxKaHi peUYCHHS.

1. The problem (solving; being solved; having solved) by the operator is connected
with the conversion of human language into machine language.

2. A typical output device may be an electric typewriter (activated; activating; having
activated) by the electric impulses (supplying; supplied; having supplied) by machine.

3. (Having been introduced; Being introduced; Having introduced) these new methods
of materials handling they hoped to increase labour productivity.

4. These are two kinds of numbers (containing; contained) in addresses: permanent or
constant numbers and temporary numbers.

5. The control program is a large program (occupied; occupying; having occupied)
thousands of bytes.

6. The data (being obtained; having been obtained; having obtained) are of great
interest for our work.

VIII.  TlepexnaaiTh pedeHHs, 3BEpTalOYN yBary Ha oOCTaBHHHI CJIOBOCIIONYYCHHS 3
JENMPUKMETHUKAMH.

1. When proved experimentally, the new concept became universally adopted.

2. This material cannot be processed unless specially prepared.

3. When solving a problem you must take into consideration some facts mentioned
before.

4. If applied to production process, automation enables workers to operate several
machine-tools simultaneously.

[X. IlepeknaniTe pe4eHHs; MIAKPECHiTh Y HUX JIENPUKMETHUKOBI 3BOPOTH; OOBEIITH
KPY’>KKOM HOMEpH peUeHb, SKi MICTATh HE3aJICKHUN 1€ NPUKMETHUKOBUH 3BOPOT.



1. The operations being analysed in this chapter are connected with data processing.

2. Having been divided into equal portions, the data were fed into the memory of the
computer.

3. The machine operates 24 hours per day, part of time being spent on checking.

4. The problem being too complicated, the students could not solve it at once.

5. Having thoroughly studied the contemporary theories of electricity A.S.Popov
succeeded in constructing an apparatus to transmit electromagnetic waves at a distance.

6. The speed of waves being known, it is enough to measure the time, which elapses
between the transmission of signals, and the arrival of reflected waves in order to locate the
object, which caused the reflection.

X. Ilepenumiits i ycHO mepeknaaite Tekct. Ilepexnanite muceMoBo 1,3,4,6-ii ab3auu.

Robots: New Sensors Promise More Flexibility

1. The use of industrial robots has increased rapidly during the last two decades.
However, most of the jobs performed by robots have remained simple, repeatable, and
monotonous tasks, such as loading and unloading, spot and arc welding, spray painting, etc.
One of the main reasons for this is that most robots today have little or no sensory
capabilities. They can function only in environments where the objects to be manipulated are
precisely located in the proper position for the robot to grasp, paint, weld, or whatever else.
Thus, the robot needs no sensor capability to find where to place the weld. It welds at the
same place each time whether or not there is anything to weld.

2. In this article we will discuss the current state of the art in robot sensor technology,
specifically vision and tactile sensors, and look at the ways of processing, integrating and
using sensor data more effectively in the control of robots.

3. Some of the most dramatic recent improvements in sensors for robots have been in
the field of vision. Now robots can see in two dimensions. Vision systems enable robots to
recognize objects as long as the objects contrast sharply with their background and do not
touch or overlap each other.

4. These systems typically use luminance images derived from TV-like cameras. A
luminance image is a two-dimensional array of numbers, each of which corresponds to the
brightness of the point in the scene being imaged. The primary use of such systems has been
limited to inspection applications where parts are precisely presented to the vision system, and
lighting is carefully controlled.

5. The main problem with two-dimensional vision is that the three-dimensionality of
the scene is lost during the process of acquiring an image.

6. Robots, of course, function in a three-dimensional world. Depth nformaition is
critical for enabling a robot to avoid collisions with objects in its environment while it is
moving, picking up discrete parts and performing other operations. Thus, three-dimensional
vision is the key to enabling robots to function reliably and safely in an unstructured
environment.

XI. IlepenuBiThes e pa3 2-i 1 5-i ab3a1u 1 1aiiTe BiAMOBIAb HA TaKi 3aIlIUTAHHS.

1. What problem is this article devoted to?

2. What part do robot sensors play in the control of robots?

3. What happens during the process of acquiring an image with two-dimensional
vision?



3HaliliTh B TEKCTI AHIUNHCBHKI €KBIBAJIEHTU IMEHHHUKIB. YKaXITh JI€CIIOBA TOrO XK
KOPCHS.

Mogpenb: nonomora t help — momomoraru - to help

1) KopHuCTb - = =

2) BUKOPHUCTAHHS e e e

3) MOJ0XKEHHH, e e e

IMO3HUIIA

4) 06poOka e e e

5) mokparnieHHs e e e

6) 3acTOCyBaHHS e e e

7) 3Bapka e ——— e e

Bapianr 2

[. TlepenumiiTh 1 mNepeKIaAiTh pEUEHHs, IO3HA4Te THUI pedeHHs. l[lepexnamiTh
YKpaiHChKOIO 200 POCIMICHKOI0 MOBOIO.

1. He asked me if I had read the instruction carefully.

If she practiced more she could get good results.

The ship would have run aground if the pilot had made a mistake.

I would not buy things on the installment system (B paccpouky) if I were you.
Unless they leave a lamp beside that hole in the road somebody will fall into it.
I could repair the device myself if [ had a long ladder.

II. TlepenumiiTh pe4YeHHs; MIAKPECHiTH B  HUX  JI€CIOBO-IPUCYIOK (Y
CTBEP/DKYBAJIbHIN, THWTAlIbHINA, 3alepedHii YW CIOHYKadbHIM (opmax); TMEepeKIaaiTh
YKpaiHCBKOIO a00 POCIHCHKOI0 MOBOIO.

1. One of the most important uses of resistance is its ability to make electricity
produce heat.

2. The hydroelectric station to be constructed on this river will start working in three
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years.
3. What does the peripheral equipment of the computer consist of?
4. One could answer this question by testing different alternatives.
5. If you pulled the emergency stop valve (cton-kpan) the train would stop and you
would be fined.
6. Let him show these documents only after the materials arrive.
II. TlepeknaniTh pedeHHs, 3BEPHYBILIHN yBary Ha (opMy BUpa)KeHHs 3arepeueHHs.
I could remember neither the name of the author nor the title of the book.
They did not have the right to begin loading before the 15th September.
Nobody told her to type this contract in three copies.
No agreement has been signed by the representative of this firm.
None of us like to be reminded several times of the same things.
There is no chance of getting the new information about their experiment.

N

IV. Po3noziniTe HaBeeHI HUXKYE HEOCOOOBI (POPMU JIECTIOBA HA TPH TPYIIH:

a) SIK Taki, 10 MalOTh MTACUBHUH CTaH;

b) o3HaualOTH 1110, sIKa nepeaye (meperyBaHHs) Jii Ai€CIoBa — MPUCYIKA;

03HAYae Jif0, OJTHOYACHY 3 JII€I0 JII€CTOBA — MPHUCYIKA.

having been obtained; obtaining; being obtained; having obtained; being determined;
determining; having been determined; having determined; making; having made; being made;
having been made; having analysed; analysing; having been analysed; being analysed.

V. Ilepexmanith Taki pedyeHHs, MO MICTATH "ing" . 3a3HayTe B IyKKax y KIHII

pedeHHs, uu € naHa "ing" ¢opma repyHIieM YU 1I€ENPUKMETHHKOM.



1 The electric current passing through a wire will heat that wire.

2 All electrons are considered to be carrying negative charge of electricity.

3. An ammeter is an instrument for measuring current.

4. In spite of all difficulties our laboratory succeeded in using this method of
research.
5. The rules of operating this machine are very simple.
0. My friends succeeded in creating a new instrument for measuring purpose.

VI. TlepexnaniTh peueHHs, 3BEpPTAlOYM yBary Ha OCOOJHMBOCTI NepeKiIamy
NPUHMEHHHUKIB Y CIIOJyY€HHI 3 TEPYHIIIEM.

1. In passing through the metal, electrons must of course collide with many ions.

2. On studying the nature of that new phenomenon, they were not satisfied with
the results obtained.

3. Upon receiving the orders he communicated them to the chief of the plant.

4. They insist on your answering them immediately.

5. After walking for three hours we stopped to let the others catch up with us.

6. Without receiving exact results one cannot repeat the experiment.

VII. Bubepith mnoTpiOHy ¢GopMy ITIENPUKMETHHKAa 3 HaBEACHUX Y JOy)KKax.
[TepexnaaiTe oxepxkaHi PEUCHHS.

1. The data (obtained, obtaining, having been obtained) are in good conformity with
the previous results.

2. The space (having surrounded, surrounding, surrounded) a magnet is called its
magnetic field.

3. ... (placing, having placed, placed) a magnetic material in the field of another
magnet, we can magnetize it to a certain degree.

4. Her books (having read, read, reading) by people all over the world are still
immensely popular.

5. When (using, having used) a laser, the antenna system can be reduced to only a few
inches.

6. Experiments (conducting, having conducted, conducted) recently have shown that
the laser can be used for welding.

VIII.  TlepexnaaiTh pedeHHs, 3BEPTalOYN yBary Ha oOCTaBHHHI CJIOBOCIIONYYCHHS 3
JENMPUKMETHUKAMH.

1. We discussed a simple experiment speaking of induction.

2. When reading the article the engineers made notes for their coming
experiment.

3. These papers cannot be used unless specially prepared.

4. While constructing the device the engineer introduced some improvements.

5. Studying various phenomena of nature, Newton discovered  the law of
gravitation.

6. Being referred to in many works the periodic low of elements proved its
validity

[X. Ilepeknanite peYeHHS; MIAKPECTITh B HUX JIENPUKMETHUKOBI 3BOPOTH; OOBEIITH
KPY’>KKOM HOMEpH peUeHb, SKi MICTATh HE3aJICKHUN 1€ NPUKMETHUKOBUH 3BOPOT.

1. The new hypothesis accepted, scientists began to apply it to their investigations.

2. The scientist having developed the new technology, the plant introduced it.

3. Having investigated the new substance the scientist made a very important
conclusion.

4. Computers making calculations fast, engineers use them widely.

5. The current generated flows through the circuit.



6. There being no fuel in the tank, the motor stopped.
X. IlepenumiiTh 1 ycHO niepekaagiTh TeKeT. [lepeknaaiTe muceMoBo 1-ii 1 3-i ab3arm.

COSMIC RAYS

1. It may be true to say that all radiation is emitted from single atoms of matter, but we
cannot be sure of this, since we find that everywhere accessible to us there is a small amount
of a very penetrating radiation known as cosmic rays, the origin of which is unknown. They
are believed to exist throughout the universe. It is difficult to be sure of their fundamental
nature because, when they enter the Earth, they are apt to release particles from atoms.

2. The primary cosmic rays are protons, the nuclei of atoms of helium and other
elements, moving in interstellar space with huge energies. The intensity of the cosmic rays is
almost completely independent of the time of the day. This means that they bombard the earth
from all sides. If the particles move in a strait line, this would mean that cosmic radiation is
isotropic everywhere in space. If they do not, we would be forced to assume that the sources
of cosmic rays surround the solar system symmetrically on all sides.

3. The energy density of cosmic rays at the earth roughly equals that of the light of
stars and is thousand of times greater than the density of light energy in intergalactic space. If
cosmic rays are actually distributed uniformly in space, their total energy is thousand of times
greater than the energy of starlight in the same huge volume. Since light and cosmic rays are
propagated almost with the same velocity, this means that thousands of times more energy is
given off in the form of cosmic rays than light. At the present time there is no known energy
source thousand of times more powerful which could act in intergalactic space.

Notes:

1) interstellar space - MiKIUTaHETHHIA TIPOCTIp;

2) starlight — cBiTJIO 31pOK;

3) energy source - JPKEpENo eHeprii;

4) to believe — gymaru, yBa)kaTu.

XI  TlepemuBiThes mie pa3 2-if ab3all i JaifTe BIAMOBIAb HA 3aIIUTAHHS.

1. What are the primary cosmic rays?
2. Does the intensity of the cosmic rays depend on the time of the day?
3. Do cosmic rays bombard the earth from one side?

XII.  3HaiigiTe B TEKCTI aHIIINCHK] €KBIBAJEHTH IMEHHUKIB. YKaXITh J1€CI0BA TOTO
K KOPCHSL.

Mopnens: nonomora - help —>nonomoratu - to help

1) TOXOKEHHSI, DKEPETIO -...oovvennnenne. e e
2) Harnpyra, IHTeHCURHICTh = - -

3) BUNIPOMIHIOBAHHS e e e ——
4) KIJIbKICTB e e e
5) dopma e ——— e e
6) TMPOCTIP, MPOMIKOK  =..ecvvreneennne. e e
7) cucrema e e e

BapianT 3

[. TlepenumiiTh 1 mepeKIaAiTh peUEHHs, IO3HAYTe THI pedeHHs. llepexmaniTh
YKpaiHChKOIO 200 POCIMICHKOI0 MOBOIO.

1. We should not solve this problem if we had no plastics with some unique
properties.

2. He asked them, if they had applied a digital computer in solving the problem.

3. If 1 were a designer of cars I should think of more extensive application of plastics

10



for finishes (o6po0Oxka).

4. If he is an excellent specialist we shall ask his advice.

5. If I were acquainted with this famous professor I should ring him up.

6. You will be free tomorrow if you finish this work in time.

II. TlepenumiiTh pe4YeHHS; MIAKPECHiTH B  HUX  JI€CIOBO-TIPUCYIOK (Y
CTBEP/DKYBAJIbHIN, TWTaIbHINA, 3alepedHii YW CIOHYKadbHIM ¢dopmax); TNEepeKIaaiTh
YKpaiHCBKOIO a00 POCIICHKOI0 MOBOIO.

1. The demands for engineers greatly increase in the age of rapid scientific progress.

2. The materials mentioned above cannot be used in industry.

3. How is a program in FORTRAN structured?

4. Our laboratory assistant is to prepare all the equipment for our experiments.

5. Let us suppose that you are standing in the station watching a passing - by freight
train.

6. There are two main means of producing small electric currents for special purpose.

ITII. TlepeknamiTh peyeHHs, 3BEPHYBIIHN yBary Ha (hopMy BUPaKCHHSI 3allEPEUCHHS.

1. In case there is no current in a conductor there can be no electric field within it.

2. Neither copper nor aluminum must be used in this case.

3. Energy can neither be created nor destroyed.

4. Nobody has seen the necessary materials for such experiments.

5. No transistors were used for performing complicated operations.

IV. PosmoxainiTe HaBeeHI HUXKYE HEOCOOOB1 (hOPMH JIi€CTOBA HA TPU TPYIIN:

a) sIK TaKi, [0 MalOTh MACUBHUH CTaH,

b) o03HauarThH 10, sIKa Nepeaye (mepeayBaHHsl) il JiecioBa — MPUCYIKA,

C) O3HAyae Jif0, OJHOYACHY 3 JI€I0 I€CIIOBa — MPUCYAKA.

Being given, giving, having been used; having given; having been developed,
developing, being developed; solving, having solved, being solved, having been solved,
having lifted; lifting; having been lifted, being lifted.

V. llepeknaaite peueHHs, Mo MIcTATH "ing" . 3a3HauTe B QyXKaX y KiHII PEUCHHS,
4y € n1aHa "ing" ¢hopma repyHIieM YU JIENPUKMETHUKOM.

1. Moving is a form of existence of matter.

The engineer working at this problem found an original solution.

There are several ways of supplying energy.

Having made many tests the engineer obtained a result of great significance.
Using this method it became possible to produce rubber.

In making parts for automobiles engineers use different alloys

VI. [TepexnaniTh Taki peyeHHs, 3BEPTAIOYM yBary Ha OCOOJIMBOCTI IMEpeKIaxy
MPUHMEHHUKIB y CTIOJYYEHHI 3 TEPYHIIEM.

1. While constructing the device the engineers introduce some improvements.

2. By adding heat to a boiling liquid we make it change its state without changing its
temperature.

3. On studying the nature of that new phenomenon, they were not satisfied with the
results obtained.

4. Without understanding properly the major laws of mechanics it is difficult for the
students to take part in research.

5. Having made a number of experiments, we succeeded in creating a new device.

6. In designing the device they used a lot of mathematical equations.

VII. Bubepitp mnotpiOHy GopMy AiENpUKMETHHKA 3 HaBEIECHUX B JIYyXKKax.
[epeknanitTe oaepxKaHi peUYCHHS.

1. Technique (having reached, reaching, being reached) a high stage of development,

SARRANE N
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new methods of work became possible.

2. e (Having discovered; discovering, being discovered) rich deposits of iron ore the
people began to construct iron and steel works in this district.

4. The range of scientific problems (being discussed; discussing, having discussed) at
the conference was very extensive.

5. The tools (producing, having produced, produced) by this plant are of the best
quality.

6. The work (done, having done, doing) is equal to the energy lost.

7. The (having moved, being moved, moving) conveyer brings details to the shop.

VIIIL. IlepexknaaiTeh pedeHHs, 3BEPTAlOUYM yBary Ha OOCTAaBUHHI CJIOBOCIIOYYEHHS 3
JENMPUKMETHUKAMH.

1. As seen from the article these engines are being produced in Odessa.

2. When carrying out the experiment the scientist came to the important conclusion.

3. Having finished the test the engineer published the results.

4. Any body, when heated to a sufficiently high temperature, becomes a source of
light.

5. Being referred to in many works the Periodic law of elements proved its validity.

6. The law defining the properties of inertia was formulated by Newton.

IX. IlepexnaniTe peueHHs; MIAKPECTITh Y HUX JIENPUKMETHUKOBI 3BOPOTH; OOBEIITH
KPY>KKOM HOMEPH PEUCHb, SIKi MICTITh HE3AICKHHIA T1€EMNPUKMETHUKOBHIA 3BOPOT.

1. Computers making calculations fast, engineers use them widely.

The problem being easy, the scientist solved it at once.
Having completed the test the engineer put down the results.

4. Industrial robots doing hard work, their use increases all over the world.

5. Nowadays computer-controlled machine-tools are widely used.

6. Automation being introduced, the productivity of labour increases greatly.

X. Iepenumite i ycHO nepekianiTh TeKcT. [lepexiaaite mucbMOBO 2-ii 1 5-if ab3ary.

Radio

1. In the early days of the telegraph and the telephone, men observed that signal
sometimes jumped across the space between wires running next to each other, so that
messages sent to one person went to another. They realized that electricity could pass through
the air as well as along a wire.

2. Just as sound travels through the air in waves, so electricity travels through the air
in what we call radio waves. A. S. Popov, a Russian inventor, had the idea of sending
messages by radio waves, or "by wireless". He constructed a coherent detector for the study of
lightning discharges and his receiver was described in 1895.

3. In fact, the radio waves travel in a straight line, but they are reflected from the sky,
back to the earth's surface. This is how radio waves travel around the world. You have heard
on the radio of "long-wave transmissions" and "short-wave transmissions". In fact, there are
two ceilings in the sky, not solid ceilings like the ceiling in a room, but more like nets, which
allow some radio waves to pass through them and reflect others. The lower ceiling is called
"Heaviside layer". This reflects long waves. Short waves are reflected by the higher ceiling,
called the "Appleton layer". Radio transmitters can also send out ultra-short waves. These
waves pass through both layers in the sky but are useful for communicating with spaceships
and can be used to send sound to very long distances when they are reflected from satellites in
space.

4. It was exciting to be able to communicate over long distances by signals sent by
wireless, but soon men wanted to try to broadcast the sound of voices and even music in this
way. A modern broadcast transmitting station has an aerial from which sound weaves are sent
to the radio sets in people's houses.

w N
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5. However, broadcasting like this would not be possible without the use of valves in
the transmitting station and inside the radio sets. Radio waves are sent out by alternating
current. Valves at the transmitting station are used to keep the electric circuits oscillating, that
is, sending the current backwards and forwards in the aerial. The number of times the current
alternates decides the frequency, or wavelength, on which the station is broadcasting.

Notes:
1) insulation - 13051115,
2) electric current - eleKTPUYHHUIA CTPYMiHb;
3) to send a message - MOCUIaTH MOB1IOMIICHHS;
4) land - TyT,Kpaina, nepxasa;
5) next to each other - mapanensHo;
6) to travel - TyT:mepenaBaty;
7) it is exciting - 3aMaHJIMBO;
8) valve - enekTpoHHa namma;
9) coherent - KOorepeHTHHIA;

10) appleton layer - map FiP ioHOC(epH;
11) heaviside layer - map E ioHochepu.

XI  JlaiiTe BiAMOBIII HA TaKl 3aIIUTAHHS.

1. What idea did A. S. Popov have?
2. What is the Heaviside layer?
3. How do satellites in space help us to broadcast?

XII. 3HalgiTh B TEKCTI aHTINCHK] €KBIBAJIEHTH TaKUX MIECTIB. YKaXKITh IMEHHUKHU
TOTO K KOPCHS.

Mognens:|to help - nonomorati — help - tomomora

1) coctepiratu - - -

2) ogepKyBaTu, IpuiMaTu - -

3) onncyBatu - - -

4) BinOuBaTH - - -

5) KOHCTpyIOBaTU - - -

6) nepegaBaTu - - -

7) BUKOPUCTOBYBAaTH - - -

BapianT 4

[. TlepenumitTh 1 NEpeKNaaiTh pPEUYEHHs, MO3HAayTe TUN pedeHHs. [lepexnanite
YKpaTHChKOIO ab0 pOCiiiChKOI0 MOBOIO.

1. If somebody wants to design a car of the advanced type he must take into account
the properties of some of the new materials.

2. I think you should choose for your experimental circuit more simple and reliable
design

3. Had there been better conditions, the construction of the new car body would have
been finished much earlier.

4. If automatic control had been used, many variable parameters could have been
measured and controlled.
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5. If you see him, ask him to ring me up.

6. He was asked if he could finish his work in time.

II. [lepenuuiiTh pedyeHUs; MIAKPECHITh B HHUX JI€CIOBO-TIPUCYIOK (B
CTBEP/DKYBAJIbHIN, TWTaIbHINA, 3alepedHii YW CIOHYKadbHIH ¢dopmax); TNEepeKIaaiTh
YKpaiHCBKOIO a00 POCICHKOI0 MOBOIO.

1. Did American space probes take photographs of the far side of the Moon?

2. First check the temperature of the mixture.

3. Using their minds and working together men can solve almost any problem.

4. There are several standard units of length in use today such as meter, inch, foot,
mile and centimeter.

5. Without electronic technology we couldn't solve this problem timely.

III. TlepexyiamiTh pe4eHHs, 3BEpHYBIIN yYBary Ha (hOpMy BHPaKEHHS 3allepeUCHHS.

1. I could remember neither the name of the author nor the title of the book.

2. Without processing information it is impossible to plan and control production
processes.

3. No data obtained were subjected to special analysis.

4. These instructions should not be followed by the operator.

5. I don't think all the necessary materials should be immediately sent for.

0. Why wasn't the car either locked or put into garage?

IV. Po3noainits HaBeJeHI HUKYE HEOCOOOB1 (POPMH Ji€CTOBA HA TPU TPYIIH:

a) K TakKi, [0 MAIOTh TACUBHHH CTaH;

b) o3HavaTh Ait0, AKa nepeaye (nepeayBanHs) Ail TiecaoBa- IPUCYIKa;

C) O3Hayae Jito, OHOYACHY 3 JIE€I0 AIECIOBA-TIPUCYIKA.

starting, having been started, having started, being formed, having formed, studying,
having been studied, having studied, having made, being made, using, having been used,
having used, being received, having been received, having received.

V. Ilepexnanith pedeHHs, 10 MICTATH "ing". 3a3HauTe B AyKKaX y KiHII peUCHHS,
4l € nana "ing" opma repyHIieM YU TI€NPUKMETHHKOM.

1. Computers are widely used for controlling industrial processes.

2. The rules of operating this machinery are very simple.

3. Making experiments they used computers for data processing.

4. Having been divided into equal portions, the data were fed into the memory of
the computer from punch cards or magnetic tapes.

5. Studying foreign languages is necessary for future specialists.

6. Mastering the lab technique in necessary for scientists.

VL [Mepexnanite pedeHHs, 3BEPTAIOYM yBary Ha OCOOJIMBOCTI TeEpeKIamy

MPUHMEHHUKIB y CTIOJYYEHHI 3 TEPYHIIEM.

1. In making parts for automobiles engineers use different alloys.

2. The changes in the structure of any metal depend upon heating and the kind of the
metal being heated.

3. By repeating the experiment you can get additional results.

4. In training specialists practice iy as important as theory.

5. On receiving the answer of the firm we handed all the documents to our legal
adviser.

6. After concluding the contract, the representative of the firm left Moscow.

VIL Bubepite motpiOHy (opMy mi€NpUKMETHHUKA 3 HABEACHUX B JIY)KKaXx.
[TepexnaniTs oepikaHi peueHHsI.
L. ... (having collected, collecting, being collected) all the material, he was able to

write a full report on the work of the commission.
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2. The firm is interested in the purchase of automobiles (produced, producing, having
produced) by one plant.

3. ... .(returning, having returned, returned) from the expedition, he made a very
interesting report.

4. The technology (applied, having applied, being applied) improved the quality of the
goods obtained.

5. The metals (being used, having used) in our work possess many important
properties, such as light weight, corrosion resistance, etc.

0. ...... (being, been, having been) a source of heat and power, atomic energy can also
serve as a source of creating useful products.

VIII.  IlepexynamiTh pedeHHs, 3BePTAlOUN yBary Ha OOCTaBUHHI CJIOBOCIIOIyYEHHS 3
JEMPUKMETHUKAMHU.

1. Having been published, this scientific work had great influence on the future
development of theory.

2. With the temperature falling rapidly, we were not able to carry out our work.

3. Computers represent a new branch of science,the first of them having appeared riot

so long ago.
4. The problem having been solved, the engineer started a new experiment.
IX. [lepexnaniTe peueHHs; MiAKPECHiTh Y HUX AI€ENPUKMETHUKOBI 3BOPOTH;

00BEIITh KPY>)KKOM HOMEPH PEUCHb, SIKi MICTATh HE3AJIC)KHUH JTIEMNPUKMETHUKOBUN 3BOPOT.

1. Using this method it became possible to produce such materials which, when
processed in a certain way, can double the life of this device.

2. The plant having automated all industrial processes, production conditions became
better.

3. The range of scientific problems being discussed at the conference was very
extensive.

4. The temperature of the object raising, the speed of molecules increases.

5. The problem being of great importance, the scientist tackled it.

6. The details hardening, the equipment is more reliable.

X. [TepenumiiTe 1 yCHO mepekmanith TekcT. llepexmamith mucbMoBO 1-it 1 2-i
ab3anu.

The Internet

1. The Internet, a global computer network which embraces millions of users all over
the world, began in the United States in 1969 as military experiment. It was designed to
survive a nuclear war. Information sent over the Internet takes the shortest path available from
one computer to another. Because of this, any two computers on the Internet will be able to
stay in touch with each other as long as there is a single route between them. This technology
is called packet switching. Owing to this technology, if some computers on the network are
knocked out (by a nuclear explosion, for example), information will just route around them.
One such packet-swithing network already survived a war. It was the Iraqi computer network,
which was not knocked out during the Gulf War.

2. Most of the Internet host computers (more than 50%) are in the United States, while
the rest are located in more than 100 other countries. Although the number of host computers
can be counted fairly accurately, nobody knows exactly how many people use the Internet,
there are millions, and their number is growing by thousands each month worldwide.

3. The most popular Internet service is e-mail. Most of the people, who have access to
the Internet, use the network only for sending and receiving e-mail messages. However, other
popular services are available on the Internet: reading USENET News, using the World- Wide
Web, telnet, FTP, and Gopher.
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4. In many developing countries the Internet may provide businessmen with a reliable
alternative to the expensive and unreliable telecommunications systems of these countries.
Commercial users can communicate over the Internet with the rest of the world and can do it
very cheaply. When they send e-mail messages, they only have to pay for phone calls to their
local service provider, not for calls across their countries or around the world. But who
actually pays for sending e-mail messages over the Internet long distances, around the world?
The answer is very simple: a user pays his/her service provider a monthly or hourly fee. Part
of this goes towards its costs to connect to a larger service provider. And part of the fee got by
the larger provider goes to cover its cost of running a worldwide network of wires and
wireless stations.

Notes :

1) in touch with - y koHTaKTi;

2) e-mail — eJeKTpOHHa MOIITa;

3) host computer - By3/10Buii KOMIT'IOTED;
4) service provider - mocTa4ajJbHHUK ITOCIYT;
5) packet switching - makeTHa KomMyTarlis;

6) network - mepexa.
XI. IlepenuBiThbCs TEKCT 1€ pa3 1 JalTe BiJMOBIIb HA TaKi 3alTUTAHHS.

1. What can Internet provide its users with?
2. What do users have to pay for?
3. Where are the Internet host computers located?

XII.  3HaimiTh Y TEKCTI aHITIHChKI €KBIBAJICHTH IMEHHHKIB. YKaXiTh JII€CTIOBA TOTO
K KOPEHSI.

Mopeng: nonomora - help || nomomoraru - to help

1) kopuctyBaa e e s
2) 1iHa, BapTICTh T e TR
3) nocTavyanbHUK MOCTYT e e T
4) MOB1AOMJICHHS, BIIOMICTb -............. e, e,
5) IOTOPK, KOHTaKT - - -

6) cayx6a, OOCITyroByBaHHSA -............. T T

BapianT 5

L. [lepenumiTe 1 mepexiIaniTh peueHHs, MO3HAUTe TUN peueHHs. [lepexmaniTh
YKpaiHChKOIO 200 POCIMCHKOI0 MOBOIO.

1. If the resistance of plastics had not been so high they would have been attacked by
inorganic acid.

2. If the researchers had not applied the new progressive method of work their
experiment would have been a failure.

3. He was asked if he had tested the instruments before the experiment.

4. Unless you are more careful you will have an accident.

5. You would not have got into trouble if you had obeyed my instruction.

6. If you looked at the engine for a moment you would see what is missing.

II. [lepenuiuiTe peyeHHs; MIAKPECHiTh y HHUX JII€CTOBO-TIPHCYAOK (B
CTBEP/DKYBAJIbHIN, THWTAlIbHINA, 3alepedHii YW CIOHYKadbHIM (opmax); TMEepeKIaaiTh
YKpaiHCBKOIO a00 POCIHCHKOI0 MOBOIO.

2. When flowing through a conductor the alternating current reverses its direction at

16



regular intervals.
3. Unless provided with specific microprocessor the control system cannot work
perfectly.
4. If developed a new type of semiconductor laser will be tested it at several plants.
[I. TlepeknamiTe peyeHHs, 3BEPHYBILIHU yBary Ha (opMy BUpa)KeHHS 3arepeucHHs.

1. No discoveries written about in this article were made last year.

2. Neither these nor those polymers are capable of withstanding high
temperatures.

3. There is nobody in the room to solve this difficult problem.

4. He told me nothing about this new experiment.

5. They didn't say that they had been working hard all the time.

6 I remember none of the figures, which he mentioned in this report.

IV. Po3noainits HaBeJeHI HUKYE HEOCOOOBI1 (POPMH Ji€CTOBA HA TPU TPYIIH:
a) K TaKi, [0 MalOTh TAaCUBHHUM CTaH;
b) o3HauaroTh Iito, siKa nepenye (mepeayBaHHA) il Ai€CI0Ba-TPUCYIKA;
C) O3HAyYae Jir0, OJJHOYACHY 3 JII€I0 JIIECIIOBA - PUCY/IKA.
3BakTe, 0 KoXKHA (hopMa rpynu "a" 000B'SI3KOBO MOBUHHA TaKOK BXOAHWTH B OJHY 13
TaKUX JIBOX TPYIL:
moving; having moved; being moved; having been moved; having broken; breaking;
having been broken; being broken; being obtained; obtaining; having been obtained; having
obtained; having been tested; testing; being tested; having tested.
V. Ilepeknanite pedeHHs, Mo MICTATh "ing" . 3a3HauTe B My>KKaxX y KiHIIl PEUCHHS,
4i € n1ana "ing" ¢opma repyHIieM 4u 11€NPUKMETHHKOM.
1. The devices standing on the platform have been made in our plant.
2. Tomorrow morning they will be continuing to discuss the results of his
experiment.
3. Using new methods we shall continue to increase accuracy and speed of analysis.
4. Everything depends on the contract being cancelled in time.
5. I don't mind helping you, but I object to being disturbed when 1 am busy.
6. Many scientists are working out devices for fuller harnessing of solar energy, some
results having been achieved both in our country and abroad.
VI. [lepexnaniTh peuyeHHs, 3BEPTAIOYHM YBary Ha OCOOJMBOCTI MEpeKIaay
NPUHMEHHHUKIB Y CIIOJyY€HHI 3 TEPYHIIIEM.
1. I shall not be able to translate this document without looking up a few words in the
dictionary.
2. On discussing the matter for an hour the committee left without reaching any
decision.
3. Computers are widely used for processing business information.
4. In solving these mathematical equations we can use our knowledge.
5. Upon being heated, the molecules begin moving about very rapidly.
6. By changing pressure one can change the boiling point of this mixture.
VIL Bubepite moTpibHy (opMmy II€ENPUKMETHHKA 3 HABEACHUX B JIYXKKax.
[epeknanitTe oaepxKaHi peUYCHHS.
1. ... (being placed, placing, having placed) in a liquid, a body will sink until it has
displaced its own weight of the liquid.
2. During the past ten years we have seen an enormous increase in the sensitivity of
the devices (used, using, having used) in cosmic communication.
3. The goods (required, requiring, having required) could not be shipped immediately.
4. The ion of a metal, (being lost, having lost, having been lost) electrons, it becomes
electrically positive.
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5. The laws of motion (having stated, stated, stating) by Newton are very important for
science.

6. ... (having introduced, introducing, being introduced) the first section of the
automatic control system the designers relieved many specialists.

VIII.  IlepexynamiTh pedeHHs, 3BePTAlOUN yBary Ha OOCTaBUHHI CJIOBOCIIOyYEHHS 3
JEMPUKMETHUKAMHU.

Though conducted with great care, the test did not give the expected results.

When following through a conductor the alternating current reverses its direction at
regular intervals

Unless provided with specific microprocessor the control system cannot work
perfectly.

If developed a new type of semiconductor laser will be tested it at several plans.

IX. IlepexnamiTe peyeHHS; MIAKPECTITh y HUX JIENPUKMETHUKOBI 3BOPOTH; OOBEIITH
KPY>KKOM HOMEPH PEUCHb, SIKi MICTITh HE3AICKHHIA TIEMNPUKMETHUKOBHIA 3BOPOT.

1. In one of the plants visited, the delegates were shown new types of equipment.

2. Aluminum is the most abundant metallic element in nature, one-twelfth of the
earth's crust consisting of aluminum compounded with other elements.

3. A given number of operations having been done, the machine stopped
automatically.

4. The installation was automated last year, its capacity rising by 25 per cent.

5. Technique having reached a high stage of development, new methods of work
became possible.

6. Robots being able to perform work that requires simple motion, they can relieve
human operators from routine and monotonous work.

X. [epenumite 1 ycHO mepekianiteh TekcT. llepexmanite nucemMoBo 1-if 1 3-i
a03amu.

Data Entry Devices

1. One of the most common ways to input data into the computer is through the use of
the computer keyboard. The computer keyboard is fashioned after a normal typewriter
keyboard. The major difference is that computer keyboard has more keys than typewriter. The
extra keys are necessary to send special characters to the computer. The keyboard is primary
data entry device used to enter commands and data by typing out words and numbers. The
difference between the typewriter and computer keyboard is that the latter has additional
punctuation and special computer control keys.

2. Most noticeable is the addition of the escape key (sometimes called the altmode
key), the break key will modify the actions of the next few keys pressed after the escape or
the altmode key. For example sequences (the pressing of a sequence of keys beginning with
the escape key) are often used to clear the screen on a video terminal or to cause words to be
highlighted. To understand the effect of pressing the control or escape keys consult you
instruction book.

3. Many keyboards have features that aid to enter data for interactive graphics tasks,
but more often so-called graphics input devices are used instead. Graphic input devices allow
operator to enter data in an easy "to-interpret graphic form, primarily to specify lines and
points. This task is usually accomplished by controlling the position of a set of cursor cross-
hairs on the screen. Some devices are touched onto the screen for more direct interaction.
Graphic-input devices are also used to select items from a menu.

4. The major types of graphic-input devices are lightpens, joysticks, track-balls,
digitizers, and voice data entry devices. In addition, automated drawing entry devices can be
used to permit input of an entire document without manual intervention.

Notes:
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1) is fashioned after - moOynoBana 3a 3pa3kowm;

2) escape key = altmode key — kiaBima nepexosy;

3) break key = interrupt key - kiaBima nepepuBaHHs;

4) cross-hairs — XpecT HU30K;

5) control key - kiaBima kepyBaHHS;

6) shift - mepeBeneHHs perucrpa.

XI. IepenuBithes e pa3 2-i ab3all 1 gaiiTe BIANIOBIIb HA TaKi 3allUTAHHS.

1. What is the function of a shift key?

2. What are sequences often used for?

3. What do they call «sequences»?

XII.  3HaigiTh B TEKCTI aHIIINCHK] €KBIBAJEHTH IMEHHUKIB. YKaXITh J1€CI0BA TOTO
K KOPCHSL.

Mopnens] nonomora — help = momomoratu — to help

1) kopucTh T T T

2) pi3HULA, BIAMIHHICTD  -..ccveeneenee. e e

3) dyHnkIisa e e e

4) npec e e e

5) dopma e —— e e ———

6) B3aeMOIis e e e
7) CKIIafaHHs, TOJABAHHS -................. e e
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KOHTPOJIbHE 3ABJIAHHS Ne 3

Jlis  TpaBWIBHOTO BUKOHAHHS IHOTO 3aBJaHHS HEOOXiTHO ONpAIIOBaTH 3a
PEKOMEH/IOBaHMMH  TIAPYYHUKAMH 1 METOJUYHUMH  TOCIOHMKaMH  (AMB.  CITMCOK
PEKOMEHI0OBAHOT JIITEpaTypH) TaKi PO3ILIN KypCy aHTIIiHChKOI MOBH:

1. Be3ocoOoBi 1 HEO3HAUYEHO-0COOORB1 PEUCHHS.

2. bararo3znaunicts "it, that, one".

3. [ligpsaHi CIONMYYHUKH MAPSTHUAX PEUCHb.

4. bararo3naunicts "since, for, as, before, after".

5. Indinitus (bopmu 1 pyHKIIT iHPIHITHBA).

6. In(diniTUBHI 3BOpPOTH.

7. ImenHi 03HauYaIbHI CI0BOCIIONYYeHHS (Y QYHKIIIT JTIBOTO O3HAYCHHS).

BapianT 1

[. Tlepenumiite pedyeHHs, B IKMX BXKUBAIOThCA clioBa "it, that, one", mepexiaaiTs ix,
ypaxoBYyOUH OaraTo3Ha4HICTh 1 0araToyHKIIOHATBHICTh WX CIIIB.

1. The result obtained is identical with that described in the paper you gave me.

2. That the method of investigation depends on the character of the material being
analyzed is quite evident.

3. One can understand why the profession of an engineer requires comprehensive
training.

4. It was necessary to solve a number of problems. And we did it. But there remained
one more problem to solve, the one that requires the knowledge of thermodynamics.

5. It is difficult to give a satisfactory definition of temperature without implying the
concept of heat.

II.  IlepeknaniTe pedYeHHs, MO3HAYTE BEPTUKATHHUMHU PUCKAMHU MEXY T'OJOBHOTO i
HiAPSAHOTO.

1. The three states matter can exist in are solid, liquid and gas.

2. We use only a small part of the energy the earth receives from the sun.

3. The subject they have chosen for their discussion is connected with the physics of
fluids.

4. The atomic weight of an atom is the number of protons and neutrons it contains.

5. The problem the scientists of the 20-century had to solve was to arrange electronic
components in computing devices in the most effective way.

6. Storage is the unit information is kept in.

[I.  IlepenumiTh i MUCHMOBO MEPEKIAIITh PEUCHHS, BPAXOBYIOUH HEOJIHO3HAYHICTD
MiIKPECICHUX CIIIB.

1. As the temperature rises the speed of molecular motion increases.

2. Most of the energy our planet receives from the sun cannot be used as it is reflected
by the surface of the earth back into space.

3. As soon as melting point is reached ice begins melting.

4. As for industrial robots they are basically singlearm devices.

5. Industrial robots are devices for manipulating parts of tools.

6. He could not solve this problem for it was too complicated for him.

7. Since that time computers began to be used on a larger scale.

8. Now the computer will do all the necessary operations itself since the information
and all the necessary instructions have been introduced into its memory unit.

9. After the lecturer had finished his lecture the students asked him many questions.

10.After the lecture the students asked many questions as the problem the lecture was
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devoted to was rather complicated.
IV. IlpouuTaiite HaBeneHi HWxkYe ¢GopMu iHQIHITHBA. 3aNUIIITh y CTOBIYUK Ti
dopmu, SKi BUPAKAIOTh:
a) MaCHBHHI CTaH;
b) onHOUYACHICTD 3 Ai€10, BUPAKEHOIO /1I€CIIOBOM — IIPHUCYIKOM;
C) Taki, IO MepPeayOTh (MepeIyBaHHs) HOMYy.
VYpaxyiite, 1m0 o7Ha 1 Ta X GopmMa MOKe BXOAUTH B 1Bi Tpymu ("a

" ' n " " :

1"B" un"a"i
"c"):

to provide; to have been equipped; to be developed; to have measured; to be informed;
to inform; to have been calculated; to be calculating; to form; to have formed; to be
producing; to have been produced.

V. IlepenuuiiTh i NMCHMOBO MEPEKIAIITh PEUCHHS, MIIKPECIUBIIN Y HUX 1HIHITUB
(n1BOMa prcKamm), 1 Ti CJIOBA, 110 BITHOCATHCS JI0 HHOT'O, OJHOKO PHCKOIO.

1. The solar cells to be installed in space vehicles will convert solar radiation into
electricity.

2. The simple principle of focusing the sun's rays by mirrors has been applied to create
a very-high-temperature furnace for melting metal alloys.

3. To obtain a really high temperature for such furnaces by traditional methods is not
easy.

4. To decrease the volume of liquid a very high pressure must be used.

5. The power station is to supply several towns with cheap energy.

VL [lepenuiiTe i MMCBMOBO NEpPEKJIANiTh PEUYCHHS, 3BEPTAIOYM yBary Ha
1H(IHITUBHI 3BOPOTH.

1. He expects the problem to be solved in a week period.

2. We believe him to be carrying out an interesting experiment.

3. Microcomputers are likely to be the first computers to use a single microprocessor
chip as a processor.

4. They consider his proposal to be rather interesting.

5. The volume and accessibility of data are known to play an important role.

6. Any engineer knows the choice of the most economical manufacturing process to be
of great importance.

7. Having explained the principle of operation of his device, Popov asked the audience
to watch its operation attentively.

VIL [lepeknanith Taki iMEHHI O3HAYaJbHI CIOBOCIOJIYYECHHA. 3amam'sataiiTe, 110
O3HauYeHE CJIOBO 3aBXKIH CTOITh Y KiHIlI TAKOTO CIIOBOCIIOIYYCHHSI.

1) high-speed information processing;

2) different economic management methods;

3) power consumption changes;

4) man-made earth satellites;

5) steadily increasing consumer goods number;

6) Semiconductor devices fabrication.

VIIIL. Tlepenuurith i TUCEMOBO MEPEKIIAIITh PEYCHHS, B AKUX BKUBAIOTHCS Pi3HI BUIU
O3HAuYCHb.

1. The ability to amplify weak signals is one of the most important vacuum tube
properties.

2. Feedback (oOparnas cBs3p) control systems serve us not only in different
production processes but also in our everyday life.

3. A new Polish Academy of Sciences digital computer ZAN-41 is a medium-size
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machine, intended for high-speed calculations, data recording and processing or for
technological process control.

[X. IlepenumriTh TEKCT. YBa)XXHO MpoYMTaiiTe MO0 1 yCHO mepeknaaite. [lepexnaaite
[IMCHBMOBO 5-1 1 8-11 ab3aru.

Computers in Modern Society

1. The word "computer" comes from a Latin word which means "to count". A
computer is really a very special kind of counting machine. Initially, the computer was
designed as a tool to manipulate numbers and thus solve arithmetic problems. Although
designed originally for arithmetic purposes at present it is applicable for a great variety of
tasks.

2. Nowadays computers may be stated to have become an important and powerful tool
for collecting, recording, analysing, and distributing tremendous masses of information.

3. Just as television has extended human sight across the barriers of time and distance,
so the computers extend the power of the human mind across the existing barriers. They
multiply the capacity of the mind to deal with information in endless variations and almost
limitless quantity.

4. Viewed in the contemporary scene and historical perspective the computer
simulates man. Indeed, two important and highly visible characteristics of man are his
intelligence and his ability to perform in and control his environment. That is why it is quite
clear that man's attempts to understand the phenomena of intelligence control and power have
lead to simulations of his brain, of himself and of organizational and group structures in
which he most often finds himself

5. Surely, there are similarities with human brain, but there exists one very important
difference. Despite all newest achievements and innovations, the so-called electronic brain
must be programmed by a man.

6. A computer is nothing more than a collection of circuits that do a few simple tasks,
at one time. The key is the speed at which these circuits operate and signals that control the
flow of electricity through the circuits.

7. Today it would be difficult to find any sphere of human activity, which could do
without computers. In science computers make calculations and analyse masses of
measurements, such as sequential positions and velocities of a spacecraft and solve
extraordinary long and complex mathematical problems, such as the trajectory of spacecrafts
Jn commerce they record and process inventories, purchases (HaknagHble, MOKYIKH), bills,
payrolls (cuera, marexusie Begomoctn), bank deposits and the like. In industry they monitor
and control manufacturing processes. In government they keep statistics and analyse
economic information.

8. Although intended for different purposes computers virtually do not differ in
structure. Regardless of their size and purpose most computer systems consist of three basic
elements: the input-output unit, the memory hierarchy and the central processing unit. The
input-output section is the path whereby information is fed into the computer or taken out of
it. The memory hierarchy stores the instructions and the data so that they can be retrieved
quickly on demand by the central processing unit (CPU). The CPU controls the operation of
the entire system by issuing commands (monaBaTh komanssl) to the other parts of the system
and by acting on the responses.

X. IlepenuBiThCs TEKCT 1€ pa3 1 JaiiTe BiMOBI/II HA 3aIUTaHHS.

1. What word does the term "computer" come from?

2. What purposes were first computers designed for?

3. Why do we say that computers multiply the capacity and power of the human mind?

4. What operations can computers do when processing information?

XL  VYkaxiTh 3HaY€HHS CJIiB, 3HAWIITh B TEKCTI 1 HAITMIIITE 1XHI aHTOHIMH.
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Mopenb:(new (HOoBui) —> old — (cTapuii)

1) unreal e e e

2) finally e ———— e e ——

3) powerless  -.......cc...... e s

4) todivide - e e

5) ancient e e e

6) easy e e ——— e

XI. [TepexnaniTe miecioBa. 3HAHAITH B TEKCTI UM B CJIOBHUKY IMEHHHUKH TOTO XK
KOPCHSL.

To solve -|BupimnnyBaTu; solution - BUpimeHHs

1) to mean e e e

2) to manipulate e —— e e

3) to inform e e e

4) to collect e ——— e ———— e ———

5) to exist e e e

6) to organize e —— e e

7) to operate e e e
8) to differ e e e ——

Bapiant 2

[. Tlepenumiite pedeHHs, B IKMX BXKUBAIOThCs clioBa "it, that, one", mepexiaaiTs ix,
YpaxoBYIOUH 0araTo3HavHICTh 1 0araToQyHKII0-HAIBHICTh ITUX CIIiB.

1. It is shown in textbooks of thermodynamics that one particular scale of temperature,
the perfect-gas (uaeanpnbili ra3) scale, has special significance, because it is identical with the
absolute thermodynamic scale of temperature.

2. To measure temperature it is necessary to choose some kind of temperature scale; it
may be done by means of some substance that changes with the change of temperature.

3. It is necessary to have some force to cause electrons to leave their orbits.

4. The development of electrical engineering began earlier than that of aeronautics.

5. One must apply the latest scientific achievements to the design and construction of
various structures.

II.  IlepeknaniTe pedYeHHs, MO3HAYTE BEPTUKATHHUMHU PUCKAMHU MEXY T'OJIOBHOTO i
HiAPSAHOTO.

1. Now let us analyze the particles an atom consists of.

2. Electronic computers perform calculations with the speed no human brain is
capable of.

3. All the operations modem computers perform can be divided into two groups.

4. A computer can keep all the information you introduce into its memory.

5. The problem we have to solve is rather complicated.

6. The machine we are speaking about is a general-purpose computer.

[I.  IlepenumiTh i MUCHMOBO MEPEKIAIITh PEUCHHS, BPAXOBYIOUH HEOJIHO3HAYHICTD
MiIKPECICHUX CIIIB.

1. As a substance becomes heated it expands.

2. Thermometer is widely used as a device for measuring temperature.

3. All robots, however, can be classified as either nonservo or servocontrolled.

4. This device is preferable as it is less expensive and has higher speed operation.

5. Nonservo robots have limited flexibility for they are usually hardwired, (>xecTko
apMUPOBAHHBIN; CTAIIMOHAPHBIH )
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6. First adding machines were used for calculating taxes.

7. Since 1940 electronics began to develop at an ever increasing speed.

8. Since there is no fluid between the earth and the sun heat cannot be transmitted to
the earth by convection.

9. After the experiment the results were discussed.

10. After the experiment was finished the results were discussed.

IV. Ilpounraiite HaBeneHi Hmxue (popmu iH(}iHITHBA. 3amumIiTh y CTOBHYUK Ti
dbopmH, SIKI BUPAKAIOTh

a) TMacHUBHUU CTaH;

b) 0JHOYACHICTH 3 JII€10, BUPAKEHOIO JIECTIOBOM - TIPUCYIKOM;

C) TaKi, 10 NMepeayroTh (IeperyBaHHs) HoMy.

VYpaxyiite, 1o oaHa i Ta % hopma Moke BxoauTH B 1Bl rpynu ("a" 1 "B" um "a "1 "c"):

to change; to be changed; to have been installed; to install; to be installed; to have
converted; to have been converted; to be converting; to convert; to introduce; to have
introduced; to be introduced.

V. [TepenuiuiTe i TUCHMOBO MEPEKJIAIITh PEUCHHS, MIIKPECTUB y HUX 1H(IHITUB
(n1BOMa pucKaMH) 1 Ti CJIOBA, IO BiAHOCITHCS 10 HHOT'O, OJTHOI PUCKOK. YKaXITh B Ay)KKaxX
¢dyHK1II0, IKy BUKOHY€ B pe4eHH] iH(IHITUB 4M iH(IHITHBHA Tpyma:

a) M1IMET;

b) YacTHHA CKJIAJTHOTO TIPHUCY/IKA;
c) O3HAYCHHS;

d) oOcTaBuHa.

1. The machinery to be installed in our shop is provided with automatic devices.

2. The work is to be checked up very carefully to make sure that there are no mistakes.

3. To be processed by the computer the data should be expressed in numerical form.

4. To do arithmetic operations is the main job of the operations unit.

5. The first step in the design of special-purpose equipment is a detailed study of the
system to be mechanized.

VI. Ilepenumrite i MUCHMOBO MEPEKIAITh PEUCHHS, 3BEPTAIOUM yBary Ha iH(QIHITHBHI
3BOPOTH.

1. Holographic television is expected to be used for special purposes in the nearest
future.

2. Solar energy has proved to be an ideal source of power for artificial satellites.

3. We know the solar energy is to be produced by fusion (causiaue) of hydrogen atoms
into helium atoms.

4. Popov made his new device serve two purposes: to send signals and to record the
received signals.

5. We consider steam to be dry or saturated (HaceieHHbIi) when it does not contain
suspended water particles.

6. Radio engineering is known to have been greatly developed since World War II.

7. When the speed of the waves is known the measurement of the time which elapses
between the transmission of microwave pulses and the arrival of the reflected waves is
considered to be the only operation necessary to locate the object which caused the reflection.

VII. [TepexnaniTe iIMEHHI O3HA4YajbHI CJIOBOCIIOJNYYCHHs. 3amaM’simanme, II1o
03HAYCHE CJIOBO 3aBX/IH CTOITh Y KiHIII TAKOTO CIIOBOCIIOTYYCHHS.

1. exceedingly low power consumption;

2. higher integration level;

3. limited memory device volume;
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4. single-crystal semiconductor material;

5. specific enterprise organization;

6. new production management concept.

VIII. IlepenumiiTe i MUCHMOBO MEPEKIAAITh PEUYCHHS, B SKUX BXKUBAIOTHCA Pi3HI
BUJIY O3HAYECHb.

1. The extremely fast access time of less than 10 microseconds makes the magnetic
core the best primary memory device for the large, very fast computers.

2. The construction of the world's biggest television centre, the Moscow centre,
housed in the 533-metre high Ostankino television tower had been completed by 1970.

3. The application of powerful outerspace relays makes possible televising
programmes directly to huge territories.

IX. [TepenumiiTe TEKCT. YBaXXHO MPOYMTANTE HOTO 1 YCHO NEPEKIadiTh.
[Mepexnanite muceMoBo 5,7,8,9,10 1 11-it ab3arm.

Electronics and Microelectronics

1. The evolution of electronic technology is sometimes called a revolution. What we
have seen has been a steady quantitative evolution: smaller and smaller electronic components
performing increasingly complex electronic functions at ever higher speeds. And yet there has
been a true revolution: a quantitative change in technology has given rise to qualitative
change in human capabilities.

2. It all began with the development of the transistor.

3. Prior to the invention of the transistor in 1947 its function in an electronic circuit
could be performed only by a vacuum tube. Tubes were produced in so many shapes and sizes
and performed so many functions that in 1947 it seemed quite impossible that the transistor
would be able to compete with them except in limited applications.

4. The first transistors had no striking advantage in size over the smallest tubes and
they were more costly. The greatest advantage of the transistor was exceedingly
(upe3Briuaiino) low power consumption. Besides they promised greater reliability and longer
life. However it took years to demonstrate other transistor advantages.

5. Early transistors are often said to have been a size of a pea. They could respond at a
rate (co ckopocthro) of a few million times a second. This was enough to serve in radio
circuits but far below the speed needed for high-speed computers or for microwave
communication systems.

6. It was, in fact, the effort to reduce the size of transistors so that they could operate
at higher speed that gave rise to the whole technology of microelectronics.

7. The aim of this extraordinary miniaturization is not so much to make circuits small
as to make them rugged, long-lasting, low in cost and capable of performing electronic
functions at extremely high speeds. It is known that the speed of response (pearnpoBanue)
depends primarily on the size of transistor: the smaller the transistor, the faster it is.

8. It may be useful to say a few words about four of the principal devices of electronic
circuits: resistors, capacitors, diodes and transistors. Each device has a particular role in
controlling the flow of electrons so that the completed circuit performs some desired function.

9. During the past decade the performance of electronic systems increased manifold
by the use of ever larger numbers of components and they continue to evolve. Modem
scientific and business computers, for example, contain 109 elements; electronic switching
systems contain more than a million components.

10.The tyrany of numbers began to concern the scientists as early as 1950. The overall
reliability of the electronic system is inversely proportional to the number of individual
components. A very serious shortcoming was also the universal practice to manufacture each
of the components separately and then assemble the device by wiring (MoHTHpYs) them
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together.

11. What provided the solution was the semiconductor integrated circuit, the concept
of which had begun to take shape a few years after the invention of the transistor.

X. IlepemuBiThCs TEKCT ITIE pa3 1 MaiiTe BIAMOBII HA 3aITUTAHHSI.

1. What invention did the revolution in electronics begin with?

2. How did a quantitative change in electronic technology influence human
capabilities?

3. When was transistor invented?

4. What device performed the functions of the transistor in an electronic circuit prior
to its invention?

XI.  VYkaxiTh 3HA4€HHS CJIiB, 3HAMIITh B TEKCTI 1 HAIUIIITH IXHI aHTOHIMH.

Mogpens: speed (BUIKICTB) -> velocity

1) for instance s e e

2) little e e s

3 instrument s SRR ST

4) every e ———— e ——— e

5) form e e e

6) cheap e ——— e e

7) quicker e e e

8) main e e ——— e

XII.  IlepenumiTh HaBEACHI HIKYE IMCHHUKH, MEPEKIAIITH iX 1 BKOXITh J1€CIOBA,
[IOXITHAMH BiJI IKUX BOHHU €.

Moenb—transmission

2) dependence —.......oeeeeiiiimiiiiii

3) solution -.................. e e

4) invention -.................. e e

5) application -.................. e ——— e ———
0) consumption -.................. e s
Bapiant 3

[. TlepenumiiTe pedeHHs, B SKMX BKUBaIOThCs cioBa "it, that, one" , mepeknamiTh ix,
ypaxoBYIOUH 0araTo3Ha4HICTh 1 0araToQpyHKII0-HAIBHICTh ITUX CIIiB.

1. There are many Russian equivalents of the word "engineering"; this makes it
sometimes difficult to find the proper one.

2. The rivers in the western part of Russia are not so long as those in the eastern part.

3. When energy is converted from one form to another some energy is lost.

4. When a body is acted upon by some external force it changes the direction of its
motion.

5. It may be said that in the near future electronics will continue to progress.

II.  IlepeknaniTe pedYeHHs, MO3HAYTE BEPTUKATHHUMHU PUCKAMHU MEXY T'OJIOBHOTO i
HiAPSAHOTO.

1. The main units a computer consists of are input, output, memory, control and
operational section.

2. Some of the materials we speak about can exist as crystals of different form.

3. Everybody knows Kurchatov was the founder of the atomic mightofour country.

4. The new method he proposes can be relied upon.

5. In everyday life the word "work" is applied to any form of activity a man does.

6. The factor we are dealing with is the one of converting heat units into units of
mechanical energy.

[I.  IlepenuuiiTek i MUCHMOBO MEPEKIA/ITh PEYCHHS, BPAXOBYIOYH HEOIHO3HAYHICTh
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HiAKPECIEHUX CIIiB.

1. Before people can fly to other planets they have to accumulate a lot of information
about heavenly bodies.

2. Utilizing solar power on large scale means getting possession of an immense source
of power.

3. Radio and television play an important role as a means of people's political and
cultural education.

4. The energy of the Sun is converted into electric energy by means of solar batteries.

5. The number of plants provided with numerically controlled machine-tools is rapidly
increasing.

6. Provided the mass of the Earth was twice as great as it is, it would attract any body
twice as strongly.

7. Neither of the engines has satisfactory efficiency.

8. There is a group of materials which are neither good conductors nor good
insulators.

9. The nucleus of hydrogen contains but one proton.

10.The proton and neutron have almost the same weight, but the electron weights only
1/2,000th as much as proton or neutron.

IV. [Ilpouwnraiite HaBeneHi Hwk4ye (Gopmu iHQIHITHBA. 3aNUIIITh Y CTOBIYUK Ti
dbopMu, sIKi BUpaKalOTh: a) MACHBHHM CTaH,

b) 0THOYACHICTH 3 AI€10, BUPAKEHOIO TIECTIOBOM - IPUCYAKOM,

C) TakKi, 10 MepenyIoTh (MIepeayBaHHs) oMYy .

VYpaxyiite, mo oaHa 1 Ta x Gopma Moxe Bxoautu B 1Bl rpynu ("a "1 "B " um "a " i
"c"):

to recognize; to have been recognized; to be recognized; to have recognized; to be
emitted; to have emitted; to have been emitted; to form; to have formed; to be forming; to
have been formed; to be radiating; to be radiated; to have been radiated; to radiate; to have
radiated.

V. [TepenuiTe i MUCHMOBO MEPEKIAAITh PECUCHHS, MIAKPECIUB Y HUX 1H(IHITUB
(mBOMa puckaMHu) 1 Ti CIIOBA, IO BIAHOCATHCS 10 HHOTO, OJIHOIO PUCKOI0. YKAXITh B JIy)KKaX
GyHKIIIO, IKY BUKOHY€ B PEUCHHI 1HQIHITUB UM 1H(IHITUBHA IpyTia;

a) MiJIMeT;

b) dYacTHHA CKJIQJIHOTO MPHUCY/IKA;

C) O3HAYECHHS;

d) oOcraBuHa.

1. The terminals should be coated with vaseline to prevent sulphating and corrosion,
(sulphating - MOKPUTTS CONSIMU CipYaHOT KHCIIOTH)

2. To measure the electric current is not difficult if you have an ammeter.

3. A quartz crystal is pressed against the surface of the metal to be tested.

4. Ultrasonic method is used to study the ocean bottom, to locate shoals offish or to
detect some danger in navigation.

5. The arrangement of the components in each module is determined by the
mathematical functions to be performed.

VL [lepenuiiTe i MMCHMOBO NEpEKJIANiTh PEUYCHHS, 3BEPTAIOYM yBary Ha
1H(IHITUBHI 3BOPOTH.

1. We know the strength of current to depend upon the resistance of the circuit.

2. For a long time the atom was thought to be indivisible.
3. If considered from this point of view the problem seems to be rather complicated.
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4. The history of automatic computers is believed to have started with Charles
Babbage, a professor of Cambridge University.

5. We expect most bodies to expand when heated.

6. Every atom is known to be composed of at least one electron in addition to a central
nucleus.

Sound is established to travel in water at the speed of about a mile per second, the
exact speed depending upon the temperature of water.

VII. IlepeknanitTe iMEHHI O3HAYaJIbHI CIOBOCIIONYYEHHS. 3anam'sTaiiTe, 0 O3HaUCHE
CJIOBO 3aBKIM CTOITh Y KiHIIl TAKOTO CJIOBOCIIOIYYEHHS:

1) data entry devices;

2) graphic input devices;

3) coded radio transmission;

4) powerful electric power system;
5) electric power distribution;

6) external circuit elements.

VIII. IlepenumriTh i MUCEMOBO MEPEKIAAiTh PEYCHHS, B SKUX BXXHMBAIOTHCSA Pi3HI
BUJIM O3HAYCHb.

1. The outer walls of the house are covered with light coloured film of plastics.

2. The buildings intended to house large machine-tools should have special
construction.

3. The next problem to be faced with is to design extremely sensitive transducers
(maTuukn) for the experiment.

IX. TlepenumiTh TEKCT. YBa)XXHO MPOYUTANTE HOTO 1 YCHO MepeknaniTe. [lepexnanith
mucbMoBO 1,3,4 1 6-i1 ab3amm.

Computers

1. As the applications for computers increase and as the requirements for up-to-date
information grow, there will be a greater demand for data transmission equipment. Data
transmission systems perform such functions as connecting together a production line and a
data processing center, sending the latest marketing and production facts from the fieldl to a
data processing center, and providing management with up-to-date information for more
accurate forecasting, inventory control, and money saving. The common medium used for
data transmission is telephone lines.

2. IBM has experimented with low-power, microwave transmission, and this could
extend the capabilities of its Tele-Processing system for long-distance computer-to-computer
communications to areas where common carrier facilities are not available, or where
customers wish their own facilities. The linking of advanced communication devices with
data-processing systems will provide the big breakthrough in real-time total management
information systems.

3. The Government is the largest user of computers. Computers are being used for a
number of new applications by the government in the non-military field. The

Internal Revenue Service has turned to computers to process its 95 million tax
returns3. The only logical means to handle all this paper work is high-speed electronic
equipment.

4. The Social Security Administration4 is using computers to speed up the processing
of claims for social security benefits. Information is produced on magnetic tape, which can be
fed directly to the computing center for further processing. The government is employing
computers in very sophisticated applications to increase the governing efficiency.

5. The military6 has been the largest developer and user of computer technology to
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date. The military value of improved computer characteristics has led to the support of
government-sponsored research projects which the computer industry would not have
undertaken on its own. Due to the requirements of space, speed, and reliability, military
control and command systems are far more sophisticated than commercial systems. However,
many of the techniques developed by the military are adaptable to business systems.

6. The space program has also opened up a huge market for computers. Four large
digital computers form a network during an orbital mission, and provide a running display
with important launch, orbital and re-entry7 information. Computers, with the help of radar
are known to have been used in achieving orbital rendezvous during the first U.S. lunar
landing mission. The importance of the military market to the computer industry is indicated
by the fact that annual shipments to this segment of the market are steadily growing.

Notes:

1) field - TyT: micue ycTaHOBKH (MOHTaXY);

2) Internal Revenue Service - [Togarkose ynpasininas CILIA;

3) Tax returns - MoJaTKOBI HaJIXOJIXKECHHSI,

4) Social Security Administration — TyT: MiHicTepcTBO (BiIOMCTBO) COLIaIbHOTO
CTpaxyBaHHS,

5) Security benefits - TyT BuIiaTu (1omnomora) o cTpaxyBaHHIO;

6) Military - TyT BificbKOBE BiZJOMCTBO;

7) Re-entry - moBTOpHWIA,

Rendezvous - panneBy (3ycTpiu).

X. IlepenuBuTHCS TEKCT IIE pa3 1 JaiiTe BIAMOBIAI HAa 3aTUTAHHS.

1. How could the introduction of low-power microwave transmission influence the
capabilities of the IBM Tele-Processing system?

2. How does the author of the text name the linking of advanced communication
devices with data-processing systems?

3. Who was the largest developer and user of computer technology?

4. Is it possible to adapt some of the techniques developed by the military to business
systems?

XI. YKaxiTh 3HaYCHHS CJIiB, 3HAHIITh B TEKCTI 1 HAIMIIITh IXHI CHHOHIMHU.

Mogpens: speed (mBuaKkicTh) —> velocity

) use, n. -...eveeennnneen. e e———— e
2 demand, n. -....cooeeeee. ——— e——
) data, n. -.....ccoocenennn. ST e
4) to link e ——— e e
5) desire, n. -......coeeneee. e e
6) instrument, n. -.................. e —— e
7) branch, n. -.................. e e
8) to accelerate -.................. e e

XII. Tlepenummith i mepeKIaIiTh MI€CIOBA. 3HAUAITH B TEKCTI IMCHHUKH, IMOXITHI BiJ
JAHUX JTECIIB, MIEPEKIIAITH iX.

Momenstoapply (3acTocoByBaTm)—application

1) to €qUIP -.eeeeereeereenns e e ———
2) to-produce e
3) to transmit -.................. e —— e
4) tO CaITY =.vevevrreennee. e e

5) to TeqUITE -...evveeeeee e e

6) to develop -.....cccvennenne e s
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Bapiant 4

[.  TlepenumiitTh pedeHHs, B IKUX BXKHUBAIOTHCA clioBa "it, that, one" mepeknamiTs ix,
YpaxoBYIOUH 0araTo3HavHICTh 1 0araToQyHKII0-HAIBHICTh ITUX CIIiB.

1. A warm air column will weigh less than that of cold air if both are of the same
height and cross section.

2. It is difficult for the first-year student to take part in this discussion.

3. It is interesting to mention that at least a hundred organic compounds are added
every day.

4. If one engine does twice as much work as another in one minute, then it has twice
the power.

5. One should pay more attention to the results of those experiments.

II. TlepeknaaiTe peueHHs, MMO3HAUTE BEPTUKATBHUMHU PHUCKAMU MEXY TOJIOBHOTO 1
P AHOTO.

1. Practical experience he got during his work at the factory enabled him to master
theoretical subjects rather quickly.

2. The range of functions this computing equipment can perform should be broadened.

3. Were there no atmosphere, the surface of the Earth would become too hot by day
and too cold at night.

4. He said we should not create and bring into operation this installation.

5. I think the results he has got are not very reliable.

6. Now the scientists are studying the information they received from the space
satellites.

1. TTepenumuiTh i MUCHMOBO MEPEKIJIAIITh PEUCHHS, BPAaXOBYIOUH HEOJIHO3HAYHICTh
HiAKPECIEHUX CIIiB.

1. Once the machine has been designed and built, once it has been programmed, it's
sufficient to push a button and let it proceed.

2. Since that time computers began to be used on a larger scale.

3. As the temperature rises the speed of molecular motion increases.

4. Most of the energy our planet receives from the sun cannot be used as it is reflected
by the surface of the earth back into space.

5. The analysis was accurate for it was made by qualified specialists.

6. This material is especially good for this purpose as it possesses all the necessary
properties.

7. We now pass to the description of how steam is generated.

8. As you know, logical operations include comparing, selecting, sorting and
matching.

9. Before the beginning of the operation the engine was carefully inspected.

10.The feed-water heater heats water before it enters the boiler.

IV. [IpounTaiite HaBenaeH! HIKYe GopMH iH(DIHITHBA . 3aMMINITh y CTOBIYHK Ti
dopmu, SKi BUPAKAIOTh:

a) MaCUBHUM CTaH,

b) onHOUYACHICTD 3 Ai€10, BUPAKEHOIO T1€CIIOBOM - IIPHCYAKOM,

C) TaKi, 0 MepeayIoTh (TIepelyBaHHs) HOMY.

VYpaxyiite, 1m0 o7Ha i Ta X GopmMa MOKe BXOAUTH B 1Bi Tpymu ("a

" ' n " "

1"B" un"a"i
"c"):

to position; to have been positioned; to be positioned; to be positioning; to be mixed;
to mix; to have mixed; to have been mixed; to have equipped; to equip; to be equipped; to
have been equipped; to be equipping; to design; to have designed; to be designed; to be
designing.
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V. IlepenumriTs i TMCbEMOBO MEPEKIAAITh PEUCHHS, MIAKPECIUBIIN B HUX 1H(QIHITHB
(m1BOMa pHICKaMHM) 1 Ti CJIOBA, IO BIAHOCATHCS O HHOTO, OJHOKO PUCKOIO. YKaXITh B Jy)KKaxX
¢dyHK1iI0, IKy BUKOHY€ B pe4eHH] iH(IHITUB 4M iH(IHITHBHA Tpyma:

a) miaMer;

b) yacTuHA CKIJIATHOTO MPHUCYIKA;

C) O3HAYCHHS;

d) oOcTaBuHa.

1. A filter is used to smooth off pulsating direct current so that it can be used in a radio
circuit.

2. The apparatus to be designed is to be used at the power-station.

3. The effect of connecting cells (3memenT) in series is to increase- the total voltage.

4. To find out the state of a mass of a gas is quite possible.

5. To find out the state of a mass of a gas one should know its volume, its pressure and
its temperature.

VI. Ilepenumrith i MUCHMOBO NEPEKIAAITH PEUCHHS, 3BEPTAIOYM yBary Ha iH(IHITUBHI
3BOPOTH.

1. The approach to this problem was supposed to be wrong.

2. Engineers consider computing equipment to make production process more
effective.

3. Numerical control is certain to increase the efficiency of the machine-tools.

4. We expect the results we have obtained to be absolutely reliable.

5. This is the information for you to process by tomorrow.

6. The knowledge of general engineering subjects is believed to be the basis for the
study of special subjects.

7. This field of computers application is likely to be entirely unexplored at present.

VII. IlepeknanitTe iMEHHI O3HAYAJIbHI CIOBOCIIONYYEHHS. 3anam'sTaiiTe, 0 O3HaUCHE
CJIOBO 3aBJK/IM CTOITh Y KIHIIi TAKOTO CJIIOBOCTIOITYYCHHSI:

1) replaceable parameters fields;

2) computer-aided manufacturing systems;
3) telephone communication requirements;
4) this machine operation;

5) magnetic field influence;

6) heat-to-electricity conversion.

VIII. Ilepenumrits i MMCHMOBO MEPEKIIANITh PEUCHHS, B IKUX BXXUBAIOTHCS Pi3HI BUIH
O3HauYCHb.

1. The vacuum between the walls of the house is filled with an excellent thermal-and
sound-proof material.

2. The test referred to above can be easily made.

3. The device to be described in this chapter is quite new and rather complicated.

[X. IlepenumriTh TEKCT. YBa)XKHO MpoYMTaiiTe HOTO 1 YyCHO mepeknaaite. [lepexnaaits
MUCHEMOBO 4,5-11 1 7-11-11 ab3anu.

Ukraine's Economy in the Context

of International Economic Relations

1. On the map of the world appeared a new independent state with a thousand-year old
history - Ukraine.

2. Having recently gained its independence, Ukraine is a country comparable in
geographical size and population to Italy and France. Ukraine is situated in the

geographical center of Europe. The country occupies a territory of 64 thousand square
kilometers.
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3. The country possesses a strategic geographical position and mild climate, rich
natural resources, sizeable consumer market, highly educated labour force, well developed
transport infrastructure, significant achievements in natural sciences and military related
research and a sophisticated research and development infrastructure.

4. Ukraine is the first in Europe in iron ore extraction, production of steel, cast iron,
tractors, mineral fertilizers, sugar, and grain; second in coal mining, and third in producing
concrete, electric energy and various equipment.

5. However, the Ukrainian economy is currently in a critical position. This is due to
the fact that the economy of Ukraine was previously quite isolated, not oriented towards
satisfying the national interest of the country. The pricing policy was basically inappropriate
because the prices for raw materials and fuel supply were very low and were not stimulating
their rational use and the introduction of high technology in industry.

6. Ukraine is rich in natural resources. It can completely satisfy the needs in iron,
manganese and titanium ores, as well as rock salt, cement, gypsum, heat resistant clays,
bromine, graphite, mercury and uranium. Deposits of ammonium, nickel, polymetalic and
magnesium ores were discovered and developed industrially. These resources can be
exported. Ukraine's annual coal extracting is about 150 million tons. Industrial development
of rich deposits of brown coal, combustible slates and peat is being carried out. Exploration of
new deposits of oil is being carried out which will considerably improve the economic
situation of the country.

7. Oil and gas pipelines of international significance go through the territory of
Ukraine. Fees from transit oil pipelines pay for most of the imported oil. Natural and human
resources of the country are sufficient for creating a developed internal market and becoming
an equal partner in the world market. So, there is every reason to believe that Ukraine can
enter the family of Europe's leading countries.

8. Prior to independence, more than 80 per cent of total "export" and "import" were
accounted for by inter-republic trade. Needless to say, that the severance of the inter-republic
links had a particularly disruptive effect on Ukrainian enterprises and on the national
economy as a whole.

9. The foreign trade linkages of Ukraine will no doubt play a key role in the recovery
of the Ukrainian economy in this transition period.

10. Upon gaining independence in 1991, Ukraine has become an equal member of the
international community. There is a little doubt that the economic, scientific and human
potential of Ukraine is one of the most promising in Europe and offers many business and
investment opportunities.

11. Attraction of new investments in the Ukrainian economy, including foreign
investments, is one of the effective ways of overcoming the present-day crucial situation.

Notes:

1) cast iron - 4aByH;

2) the pricing policy - mosiTika 1iH;

3) raw materials - cupoBuHa;

4) combustible slates - roproui cnan;

5) peat - Topd;

6) severance - BiJIJICHHS.

X. IlepermstHpTe TEKCT IIe pa3 1 MaiTe BIAMOBII HA 3alTUTAHHSI.
1. What European countries is Ukraine comparable to in size and population?
2. What is the territory occupied by Ukraine?

3. What is the intellectual potential of Ukraine?

4. What natural resources is Ukraine rich in?
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XI. 3HaliiTh B TEKCTI 1 BUIIMIIITH IOXIAHI BIJ HABEAECHUX HIKYE JIIECIIB.
[TepexnaaiTe Ti Ta 1HIII .
Mopens: to rely on (moknanarucs Ha) —> reliable
1) to attract -.................. e ——— e

2) to compare -.................. e e
3) to populate -.................. ererrernenaes reererraeeeena
4) to achieve -................. e e
5) to produce -.................. e e ———
0) to eqUIP -.eveeeveeerenee e s

7) to complete -.................. e ——— e
8) to invest -.........ccueees e e

XII. TlepeknamiTe HaBeACHI HWIXKYE CJIOBA. 3HAWMITHP B TEKCTI 1 HAMMINTH IXHI
CUHOHIMH.

Mounene: speed (IUBUOKiCTE) —> velocity
1 investigation -.................. e e
2 complicated -.................. e e

3) different -................. e e

4) at present -.................. e e

5) thanks to -.................. e e

6) earlier -.................. e e

7) COSt ~riieirieeenns e ———— e

8) to meet (the needs; requirements) -................. e ——— e

Bapianr 5

I.  TlepenumriTh peyeHHs, B SKUX BXKUBAIOTHCA ciioBa "it, that, one" mepeknamits ix,
ypaxoByloun 6araTo3HauHICTh 1 6araTopyHKII0-HATBHICTh IIUX CITIB.

1. The new device has a number of advantages over the old one.

2. It is important that this substance should remain liquid at the lowest temperatures.

3. One should operate this machine carefully.

4. That Mendeleyev was right in his prediction is proved by the discovery of new
elements.

5. Hot steam is able to do work, so we may say that heat is a form of energy.

II.  TlepexnaniTh pedYeHHs, MMO3HAYTE BEPTUKAIBHUMHU PUCKAMU MEXY TOJIOBHOTO i
HiAPSAHOTO.

1. The method we used in our investigation is not new.

2. A computer can keep all the information you introduce into its memory.

3. Where it possible we should complete this task by Monday.

4. Electronic computers perform calculations with the speed no human brain is
capable of.

5. You should take into account the rules of operating the machinery you are going to
deal with.

6. Have you read the paper he published in the last issue of "Power"?

[I. TlepenuiiTh i MUCHMOBO IMEPEKJIAIITh PEUCHHS, BPaXxOBYIOUM HEOJHO3HAUHICThH
MiIKPECICHUX CIIIB.

1. Since then several generations of complex electronic computing equipment have
been developed.

2. Computer, as we know, is a complex electronic device that can store and process
vast quantities of information.
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3. As science progresses the speed of computers operation increases.

4. The steam formed by boiling water cannot be pure dry steam as it contains the
particles of unevaporated water.

5. In many ways this method is different from the ones used before.

6. It must be first determined whether the material is corrosive or not.

7. Bernoulli's theory gave the explanation of what was then known as the behavior of
gases.

8. The type of fuel we select depends upon where we are going to use it.

9. The attempts to master the energy of an atom last for some decades. 10. All the
information has to be analyzed before being introduced into the computer.

IV. IlpounTaiite HaBeneHi Hwk4ye (opmu iHQiHITHBA. 3amuIIiTh y CTOBMYHK Ti
dbopmH, SIKi BUPAXKAIOTh:

a) MaCUBHUU CTaH;

b) 0THOYACHICTH 3 AI€10, BUPAKEHOIO TIECTIOBOM - IPUCYAKOM;

C) TaKi, 0 MEePeayIOTh (MepeyBaHHs) HoMY.

VYpaxyiite, 10 oaHa 1 Ta % hopma MoKe BXoauTH B 1Bl rpynu (a "1 "B " um "a "1 "c"):

to be testing; to be tested; to test; to have tested; to have been tested; to produce; to be
producing; to be produced; to have been produced; to have produced; to measure; to have
been measured; to be measuring; to be measured; to have measured; to be made; to make; to
have made; to be making.

V. IlepenumriTh i TMCbEMOBO MEPEKIIAAITh PEUCHHS, MIAKPECIUBIIN B HUX 1H(QIHITHB
(n1BOMa puCKaMH) 1 Ti CJIOBA, IO BiAHOCITHCS 10 HHOTO, OJTHOIO PUCKOI. YKaXITh B Ay)KKaX
¢dyHK1II0, IKy BUKOHY€ B pe4eHH1 iH(IHITUB 4M iH(IHITHBHA Tpyma:

a) miaMer;

b) yacTuHA CKIIATHOTO MPHUCYIKA;

C) O3HAYCHHS;

d) oOcTaBuHa.

1. It is necessary that the sample to be analyzed be chemically pure.

2. To change sound waves into electrical impulses, a microphone is used.

3. To read ancient mathematical tables was very difficult.

4. The first step in the design of special-purpose equipment is a detailed study of the
system to be mechanized. '

5. To operate the machine you must know the details of its internal construction and
the mode of its operation.

VI. IlepenuuriTs i MUCHMOBO NEPEKIA/ITh PEUCHHS, 3BEPTAIOUX yBary Ha iHQIHITHBHI
3BOPOTH.

Radium is said to be one and half million times more radioactive than uranium.
The experiments have shown the instrument to be extremely reliable.

We believed his discovery to be much spoken about in press.

This type of engine is found out to have many disadvantages.

Everybody knows Popov to have been the first inventor of radio.

We wanted him to obtain better results.

She waited for me to come and help her.

VII. IlepexnaniTe iMEHHI O3HAYaIbHI CJIOBOCIIOIYUYEHHS. 3anaM'aTaiTe, Mo o3HauYeHe
CJIOBO 3aBX/IM CTOITh Y KiHI[ TAKOTO CJIOBO-CIIOJTyUCHHS.
special-purpose electronic equipment;
computer-aided design system;
ship-to-shore radio communication;
absolutely new construction principles;
carefully insulated transmission lines;

Nk LD —

Nk W=
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0. power-station turbines.

VIII. IlepenumiiTe i TUCEMOBO MEPEKIIAIITh PEUSHHS, B SKUX BKUBAIOTHCS Pi3HI BUIU
O3Ha4YCHb.

1. Our designers look for the most convenient models of small houses.

2. Tools cutting metals should be made of very hard steel and alloys.

The details to be used in this apparatus are to be specially tested.

IX. TlepenumiiTh TEKCT. YBa)XXHO MPOYUTANTE HOTO 1 yCHO MepeknaniTe. [lepexnanith
1,6,7,8-i1 ab3aru.

The Generalized Measurement System

1. What is measurement? Fundamentally, measurement is the act or the result of a
quantitative comparison between a predefined standard and an unknown magnitude. Two
requirements must be met in the act of measurement: (a) the standard, which is used for
comparison, must be accurately known and commonly accepted, and (b) the procedure and
apparatus employed for obtaining the comparison must be provable.

2. The first requirement is that there should be an accepted standard of comparison. A
weight cannot simply be heavy. It can only be proportionately as heavy as something else,
namely, our standard. A comparison must be made, and unless it is made relative to
something generally recognized as standard, the measurement can only have limited meaning.
This holds for any quantitative measurement we may wish to make.

3. Fundamental Methods of Measurement. There are two basic methods of
measurement: (a) direct comparison with either a primary or a secondary standard, and (b)
indirect comparison with a standard through use of a calibrated system. Both methods are
discussed in this article.

4. Direct Comparison. How do you measure the length of a cold-rolled bar? You
probably use steel tape. You compare the bar's length with a standard making a direct
comparison.

5. Many length measurements are made in this way. Time of day is usually determined
by comparison, with a watch used as a secondary standard. The watch goes through its cycle,
actually, a double cycle in synchronization with the earth's rotation. Although in this case the
primary standard is available to everyone, the watch is more convenient, for it works on
cloudy days, indoors, and at night. It is also more precise. It is seen, therefore, that in some
cases a secondary standard is actually more useful than the primary standard.

6. The method of direct comparison, as we have seen, is not always the most accurate
or indeed the best. The human senses are not equipped to make direct comparisons of all
quantities with equal efficiency. In many cases they are not sensitive enough. We can make
direct length comparisons using a steel rule with a preciseness of, say, 0,01 inch. Often we
wish for greater accuracy, in which case we must call for additional assistance from some
form of calibrated measuring system.

7. While we can do a reasonable job though direct comparisons of length, how well
can we compare masses, for example? Our senses enable us to make rough comparisons. We
can "heft" a pound of butter, and compare its effect with that of some unknown mass. If the
unknown is about the same weight, we may be able to say that it is slightly heavier or perhaps
not quite as heavy as our "standard" pound, but we could never be certain that the two masses
were the same, even say within one ounce.

8. In making most engineering measurements, therefore, we require the assistance of
some form of measuring system, and measurement by direct comparison is less general than
i1s measurement by indirect comparison.

Notes

1. This holds for - 1ie BipHO 1151
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Quantity in question - 00roBoproBaHa BeJTMYHHA;
Cold-rolled bar - 6pycox , BUATOTOBJIEHU METOJOM XOJIOJAHOI MPOKATKH;
A steel rule - cranpHa pyneTka;
In which case — TyT: B 1anomy (1IbOMY) BUTIAJKY;
To call for - TyT 3BepHyTHCS 10;
To heft - BUBa)kuTH, NI HABIIN HA PYIII ;
Its effect — TyT: BiquyTTs HiOoro Baru.
X [lepeauBHUTHCS TEKCT 1€ Pa3 i JalTe BiAMOBII HA 3aITUTAHHS.
1. What are the two generally used methods of measurements?
2. What primary standard is the action of our watches and clocks (as a secondary
standard) synchronized with?
3. What is steel rule used for?
4. What requirements must be met in the act of measurement?
XI. 3HaiiAiTh B TEKCT1 1 BUMUIIITH (a)iMeHHUKH, (b) miecioBa OZHOTO KOPEHS 3
HaBe/JICHUMH HIK4e cioBaMu. [lepexiamits ix.
Mogpenb: describe (onmcyBatn) -> description (omuc)

X NA U AW

a) 1) recognition - b) 1) require -
N datarminat: A 2\ smanqnira
Lr/ ULV I atIiuIlr Lr/ avasurye
3) equipment - 3) rotate -
4) comparison - 4) assist -

XII. TlepexnamiTh HaBEJCHI HUKYE CIIOBA 5K (a) IMEHHUKH 1 5K (0) JiecioBa.
a)l)result- b) 1)toresultin -

2) limit - 2) to limit -
3)wish - 3) to wish -

4) watch - 4) to watch -
5) work - 5) to work -
6) effect - 6) to effect -
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Hasuyanwne BunaHHs

METOANYHI BKA3IBKI
J10 BUKOHAHHA KOHTPOJIbHUX
3ABJIAHDB Ne 2, 3
3 AHTJIIMCHKOI MOBH
ULl CTYACHTIB 1-TO Kypcy
3a049HO1 (POPMHU HAaBUAHHS

VYxmanaui: Onena BikropiBHa JleOenea
I'annna ITaBaiBaa Mikerosa

Jrongmuna FOxumiBHa I{amenko
Mapuna I'ennaziiBHa ToMeHKo
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